TI)—VBAERICERBRER

| £& INPLEE)—270 (PEFC) KT Pa7<¥ (788 x 1091) | A% (625 x 880) %31 (636 X 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
52.3 45| O 285 O | O 310 O | O
64 55/ O | O /0| O 380, O | O
81.4 70, O | O 445 O | O 485 O | O
104.7 90| O 575/ O | O 625 O | O
127.9 110] O 705 O | O 765/ O | O
157.0 135 O 865 O | O 935 O | O
|OK7")yA L BETIG100 Kip Pa7<F (788 x 1091) |AH (625 X 880) ¥ (636 x 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
SIEEETIN 52.3 45 285 31.0
REEICTEELTEYET, 64 55 35 38.0
FIZAY, 46TDOTH| 81.4 70 445 485
MESBNEDLEICHEYVET, 104.7 90 575 62.5
127.9 110 70.5 76.5
157.0 135 86.5 93.5
|£%R60 FSCEREI-MX KT PH7<¥ (788 x 1091) |A¥ (625 x 880) %531 (636 x 939)
(g/m) |E=E(ke) | TH|YH |E=(ke) |TH|YEB E=Z(keg) [TH|YH
52.3 45 28.5 31.0
64 55 /0| O 38.0 @)
81.4 70 445 O | O 485 ©)
104.7 90 57.5 62.5
127.9 110 70.5 76.5
157.0 135 86.5 93.5
|A23—F [NPI3-}')-270 (PEFC) K PH7<H (788 X 1091) |A¥ (625 x 880) %% (636 x 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
79.1 68 435
84.9 73] O 465 O | O 505/ O | O
104.7 90| O 575/ O | O 625 O | O
127.9 10| O 705 O | O 765/ O | O
157.0 135 O 865 O | O 935 O | O
|OKa—FN%")=>100 KA PU7# (788 x 1091)  |A¥I (625 x 880) %341 (636 x 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
79.1 68 435
84.9 73 O | O 465 O | O 505/ O | O
104.7 90/ 0| O 575/ O | O 625 O | O
127.9 1100 O | O 705 O | O 765/ O | O
157.0 135] O | O 865 O | O 935 O | O
|[A2=vk  [NPIZyF)'—470 (PEFC) K PH7<H (788 X 1091) |A¥ (625 x 880) %% (636 x 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
81.4 70, O 445/ O | O 485 O | O
104.7 90| O 575/ O | O 625 O | O
127.9 10| O 705 O | O 765/ O | O
157.0 135 O 865 O | O 935 O | O
|OKZyha—F")=1100 KT Pa7# (788 x 1091)  |A¥I (625 X 880) %31 (636 x 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
81.4 70, O | O 445 @) 485 O | O
104.7 90/ 0| O 57.5 @) 625 O | O
127.9 1100 O | O 70.5 @) 765/ O | O
157.0 135] O | O 86.5 @) 935 O | O
Z1-VVylR60 FSCEREF-MX KT PU7<¥ (788 x 1091) |A¥I (625 x 880) %541 (636 % 939)
(¢/m) |E=(kg) |TH|YEB #E=(ke) |TH|YB #E=(ke) |TH|YH
81.4 70 445 O | O 485 @)
104.7 90 575 O | O 62.5 @)
127.9 110 705 O | O 76.5 @)
157.0 135 865 O | O 93.5 @)




